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58 g=2H BgAZS) 116,000 187,620 AT1,620
J| 55,000
< 11,000
Al 50,000
101 @124 dl 110,000 182,400 AT2,400
J| 55,000
< 11,000
Al 44,000
04 212+ Ml - 110,000 182,400 AT2,400
o= o 22X B4 (59) 110,000
J| 55,000
< 11,000
Al 44,000
202 4l 6,000 0 6,000
01 =LY 6,000 0 6,000
OY=R2As A &0l
100,000& * 59 » 123 6,000
otk et Xt &2 4,138 3,146 992
J| 2,069
Al 2,069
301 et 4,138 3,146 992
J| 2,069
Al 2,069
01 A3 2 E 4,138 3,146 992
OTHIt 4,138
J| 2,069
Al 2,069
Lol Zofel 74,171 77,232 A 3,061
Jl| 37,085
< 7,097
Al 29,989
301 B4 74,171 77,232 A 3,061
J| 37,085
< 7,097
Al 29,989
01 At3l 2 74,171 77,232 A 3,061
okl 70,971
J| 35,485
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Al 28,389
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Jl| 1,600
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S22 X (400H) 8,000
= 1,600
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o= 3,000
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301 et A= 15,000 15,000 0]
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Al 4,204
01 Al B & A 462 10,510 9,500 1,010
ONAS HAIOI A A AN & EHoF22| 10,510
J| 5,255
o= 1,051
Al 4,204
MOfMED| HYRC 1,864 2,039 A 175
J| 1,491
Al 373
201 et | 276 271 5
J| 221
Al 55
01 AR 22l ] 276 271 5
OMIHAMED A2dRE =5 276
J| 221
Al 55
403 XX SHHS K20 & 1,588 1,768 A 180
J| 1,270
Al 318
02 BII2S 0 CHSHCHEH AFS HI 1,588 1,768 A 180
OMOEED] AL CHEALSH 1,588
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J| 1,500
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Al 1,200
04 D12t 22 HEE = 3,000 3,000 0
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J| 1,500
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Al 1,200
403 tXSHHSA=0l& 47,000 57,000 A 10,000
J| 23,500
< 4,700
Al 18,800
02 S| 2 S0l CH&HCH & A H 47,000 57,000 A 10,000
O & At 47,000
J| 23,500
< 4,700
Al 18,800
SEE2ACEEINF 2,700 3,000 A 300
J| 1,350
Al 1,350
201 Let24E] 2,700 3,000 A 300
J| 1,350
Al 1,350
01 At 22l 2,700 3,000 A 300
OUMEEI L ZAZAl FNTPRIE W SHI(1H) 2,700
J| 1,350
Al 1,350
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201 24l 1,000 1,000 0
01 At 2t 2l 1,000 1,000 0
o828 2 MAHM=A(6 1,000
202 044l 2,592 2,592 0
01 SLHOIYI 2,592 2,592 0
oL A5
81,000& = 2H * 2& * 83 2,592
206 M= Hl 3,000 5,000 A 2,000
01 MHZ 8l 3,000 5,000 A 2,000
OYRAs=e=sE 2 300,000& = 108 3,000
301 et A3 8,500 10,500 A 2,000
01 Mel28HE 6= 3,000 5,000 A 2,000
Osft-ol M MZ 10,000& = 300 3,000
09 AL HIZ &S 5,500 5,500 0
OMItet X, A& S A |
00& * 409 * 103l 2,000
OMItetxt, A& S A ]
000& =+ 508 * 103l 3,500
307 glz2tol & 7,000 10,000 A 3,000
01 22724l 7,000 10,000 A 3,000
OOt R M2 kS HI 7,000
LR Ots 222 390 401 A
J| 195
< 39
Al 156
403 XIS E X201 & 390 401 A1
J| 195
< 39
Al 156
02 SO 2SO0 CHSHH & ALY 390 401 A1
O2xnEd+d HA 390
J| 195
< 39
Al 156
QAR L IR0t ESF A2 A 161,000 167,396 A6,396
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Al 64,400
101 @14 Hl 40,000 40,000 0
J| 20,000
< 4,000
Al 16,000
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J| 15,000
= 3,000
Al 12,000
101 21 214| 20,000 20,000
J| 10,000
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Al 8,000
04 JIZtHIZ22XNSE S 20,000 20,000
OalLg2as 22 ALY JI2EH 22X 2201
H) 20,000
J| 10,000
= 2,000
Al 8,000
201 et 4,000 4,000
J| 2,000
& 400
Al 1,600
01 AP 22| H| 4,000 4,000
Oalfgadstae T2 ) 29 4,000
J| 2,000
& 400
Al 1,600
206 M = Hl 2,000 2,000
D] 1,000
& 200
Al 800
01 X Z Hl 2,000 2,000
OalLga 22 A T2 I 2,000
J| 1,000
=} 200
Al 800
301 et A= 4,000 4,000
J| 2,000
= 400
Al 1,600
01 Al B & X 26 2 2,000 2,000
O g2dEI &YHSAH | 2,000
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= 3,340
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< 40,567
Al 310,496
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301 et d = 1,560 ,500 60
01 A3l 2 & & =4 1,560 ,500 60
OME==Z 1,300& = 1,200 1,560
307 21201 A 500 500 0
01 922724l 500 500 0
OF M Sl 2,500& = 2009 500
BES AL 104,147 , 147 0
201 Let24d] 1,000 ,000 0
01 At 22l 1,000 ,000 0
oNgdsE 222 M=% 500,000& =« 23l 1,000
206 M= Hl 1,000 ,000 0
01 M= 4l 1,000 ,000 0
OugEESALY 1,000
301 et a3z 40,000 ,000 0
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01 22724l 62,147 , 147 0
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Osg2dd 83 3,500& = 8009 2,800
O&¥EZA &3 4,030& = 5009 2,015
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Ce: Mgy SE2ACMH 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
J| 100,901
< 34,306
Al 66,595
01 Al B & X 26 2 201,802 177,870 23,932
OugdEs 2+ZEH| 42,054
J| 21,027
& 7,149
Al 13,878
O8O etZEH| 158,296
J| 79,148
& 26,910
Al 52,238
Ox=&24d| 1,452
J| 726
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Zsioe & EXXA 12,388 13,918 A 1,530
= 3,101
Al 9,287
202 o4 | 600 600 0
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01 2Ll 600 600 0
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Al 384
O ZsH2A2|2A DSH 24 200
o= 40
Al 160
307 21240 9,608 11,138 A1,530
o 2,545
Al 7,063
05 QIZtR E 2 9,608 11,138 A 1,530
OZsss)| f20ls &N 8,050
= 1,610
Al 6,440
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HE: AYSH
&€ dFY SHE22LAMA 2= (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Ostulf 28 A23H oA 1,558
< 935
Al 623
=2 H 0L ALY 16,616 16,952 A 336
| 8,308
< 1,566
Al 6,742
201 Let24d]| 2,000 5,000 23,000
| 1,000
= 200
Al 800
01 At 22l 2,000 5,000 A 3,000
o= B 2,000
| 1,000
< 200
Al 800
202 O4dl 960 2,400 A 1,440
| 480
Al 480
01 = LH o4 1l 960 2,400 A 1,440
O=orZs2elAre Ol 960
| 480
Al 480
206 28 3,050 3,960 ~910
| 1,525
< 305
Al 1,220
01 =8l 3,050 3,960 A910
O=JrZ LAY THZHI 3,050
| 1,525
< 305
Al 1,220
301 g2 A= 6,462 3,074 3,388
| 3,231
S 647
Al 2,584
01 A3l EE E 56l 3 6,462 3,074 3,388
OZHYATHERKA 5,692
| 2,846
= 570
Al 2,276
OZ2HHOYR HES A 770
| 385
< 77
Al 308
307 120l & 4,144 2,518 1,626
| 2,072
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X ZH -
L= B

el

re 2 Hr
1B 0 ¥
H0 MO B>~

02 02

=5

(O]
=5
i
A
b

~

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
223l 63,555 0 63,555
J| 31,777
< 4,200
Al 27,578
AL 22T E = 21,555 0 21,555
J| 10,777
Al 10,778
101 1244 Hl 21,555 0 21,555
J| 10,777
Al 10,778
03 RIAHAZZ2 X 21,555 0 21,555
OLEE MMsS8 22X E(1Y) 21,555
| 10,777
Al 10,778
RIAHAZZ2NE > 42,000 0 42,000
J| 21,000
< 4,200
Al 16,800
101 1A dl 42,000 0 42,000
J| 21,000
< 4,200
Al 16,800
03 RJHu=Z=2 42,000 0 42,000
OHZ e Ll ) 21,000
J| 10,500
< 2,100
Al 8,400
Ooz3d3ely A 21,000
J| 10,500
< 2,100
Al 8,400
=34l 51,052 54,276 A3,224
JIE23l 51,052 54,276 N 3,224
201 L2l 41,956 44,436 N 2,480
01 At 22l 41,956 44,436 A 2,480
ORNEY =3l 250,000 » 123 3,000
OMRES +# 200,000 = 12& 2,400
O#MHALRIID =]
0,000& = 9O = 23l 5,400
Ost& Al 30,000& = 5CH = 123 1,800
Ogax=g 50,0003 = 2% = 124 12,400
o=l 40,000 = 2794 1,080
O= &l 7,000 * 27 « 72 + 123 15,876
202 04l 3,816 4,560 AT44
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A EAA
Ha: ¥HSYAH(2AL)
el =P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 2,160 2,160 0
OHlaZ28 2ol 2,160
02 M0 1,656 2,400 AT44
OMZEAHAZA BAXZ A AN
138,000& * 1& » 128 1,656
203 ¥ S =&l 5,280 5,280 0
02 33 H 2= 1,080 1,080 0
OFAINH S = 40,000& = 279 1,080
04 NI 4,200 4,200 0
ORAN2EYE=LHI 350,000& = 123 4,200
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